

PO Date:	1/9/2009		
Sat	turday, 06 February 2021		
PO#:	1004		

Vendor:	Ship To:
XYZ Supply	Intuit QuickBase
2 Broadway Ave	100 5th Avenue
	7th Floor
Chicago, IL	Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
COD	1/12/2009			
Client	Project			
Intuit QuickBase	Marketing Campaign - TEST321			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ole						
23.00	Business Cards	1312312312			\$0.00	<b>&amp;</b>	
23.00					\$0.00		



PO Date:	1/9/2009		
Sat	turday, 06 February 2021		
PO#:	1004		

Vendor:
vendor.
XYZ Supply
2 Broadway Ave
Chicago, IL

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
COD	1/12/2009			
Client	Project			
Intuit QuickBase	Marketing Campaign - TEST321			

Quantity	ltem	Description	*	Unit Price	Total Price	Other FA	FA
Taxable							
50.00	<u>Binders</u>	4" White 3 Hole Binders	$\boxtimes$	\$3.25	\$162.50	<b>&amp;</b>	
50.00					\$162.50		

 Subtotal
 \$162.50

 Taxable Subtotal
 \$162.50
 Sales Tax
 \$14.02

 (Sales Tax Rate: 8.625% ... 8.625%)
 Total
 \$176.52

One Hundred Seventy Six Dollars and Fifty Two Cents

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By Date

#### **Some special Functions**

Date Modified: Saturday, 16 January 2021 16:11:48
Today is: Saturday, 06 February 2021 21:32:40

#### **Number Formatting:**

**Currency: Number:** 

### **QB Signature**



### **TERMS AND CONDITIONS**

This is just a sample terms and conditions file that can be used with our signature ad-on. This can be used to have the user review prior to entering their signature.

You can use exact forms plus to generate this terms, with to customize the data in this document from data on the individual quickbase record.



PO Date:	<b>PO Date:</b> 7/15/2009		
Saturday, 06 February 2021			
PO#: 1005			

Vendor:	Ship To:
XYZ Supply	Intuit QuickBase
2 Broadway Ave	100 5th Avenue
	7th Floor
Chicago, IL	Waltham, MA 0

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx				
Client	Project			
Intuit QuickBase	Marketing Campaign - TEST321			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ole						
50.00	CDs	CD/RW	$\boxtimes$	\$1.25	\$62.50	<b>&amp;</b>	
50.00					\$62.50		



PO Date:	7/15/2009				
S	Saturday, 06 February 2021				
<b>PO #</b> : 1005					

Vendor:
vendor.
XYZ Supply
2 Broadway Ave
Chicago, IL

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field	
FedEx					
Client	Project				
Intuit QuickBase	Marketing Campaign - TEST321				

Quantity	ltem	Description	*	Unit Price	Total Price	Other FA	FA
Taxable							
50.00	Envelopes	Business with Window	$\boxtimes$	\$0.25	\$12.50	<b>V</b>	
100.00	<u>Books</u>	Some Books		\$10.00	\$1,000.00	<b>S</b>	
150.00					\$1,012.50		

Taxable Subtotal \$1,012.50 Sales Tax (Sales Tax Rate: ... 0%) Total \$1,075.00

One Thousand Seventy Five Dollars and No Center

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By Date

#### **Some special Functions**

Date Modified: Saturday, 30 January 2021 18:53:09
Today is: Saturday, 06 February 2021 21:32:51

#### **Number Formatting:**

Currency:

**Number:** 



PO Date:	7/15/2009				
	Saturday, 06 February 2021				
<b>PO #</b> : 1005					

Vendor:
XYZ Supply
2 Broadway Ave
Chicago, IL

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field		
FedEx						
Client	Project					
Intuit QuickBase	Marketing Campa	Marketing Campaign - TEST321				
Dua year Daggiet						

Due upon Receipt

### **QB Signature**



### **TERMS AND CONDITIONS**

This is just a sample terms and conditions file that can be used with our signature ad-on. This can be used to have the user review prior to entering their signature.

You can use exact forms plus to generate this terms, with to customize the data in this document from data on the individual quickbase record.



PO Date:	1/13/2010				
Sat	Saturday, 06 February 2021				
<b>PO#:</b> 1006					

Vendor:
XYZ Supply
2 Broadway Ave
Chicago, IL

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	1/13/2010	$\boxtimes$		
Client	Project			
Intuit QuickBase	Construction Project			
	Acct: 1001			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ole						
200.00	<u>Books</u>	Some Books for Reading		\$15.95	\$3,190.00	<b>&amp;</b>	
200.00					\$3,190.00		

Taxable SubtotalSubtotal\$3,190.00(Sales Tax Rate: ... 0%)Sales Tax\$0.00\$3,190.00\$3,190.00

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By Date

Three Thousand One Hundred Ninety Dollars and No Cents

### **Some special Functions**

Date Modified: *Monday, 25 January 2021 16:36:40*Today is: *Saturday, 06 February 2021 21:32:59* 

#### **Number Formatting:**

**Currency: Number:** 

Due upon receipt



PO Date:	1/13/2010			
Sa	Saturday, 06 February 2021			
PO#:	1006			

Vendor:
XYZ Supply
2 Broadway Ave
Chicago, IL

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	1/13/2010	$\boxtimes$		
Client	Project			
Intuit QuickBase	Construction Project			
	Acet: 1001			





### **Feature Comparison**

# **Exact Forms Plus!** PDF Stamper

Template File Type	doc, docx	PDF
Output File Type	doc, docx or PDF	PDF
Handles application tokens	¥	<b>∀</b>
Store output file in QuickBase	₹ )	₩
Handles images and barcodes	*	₩
Captures creation date in QuickBase	$\bigcirc$ $\checkmark$	₩
Integrates with Courier for QuickBase	<b>∨ ∨</b>	₩
Integrates with DocuSign for QuickBase	<b>→</b>	₩
Can include "Subtable" or "Related" data	₩	×
Handles text fields with embedded HTML tags	₩	×
Store output file in Amazon S3	❤	×
Store output file in separate "Repository" table	❤	×
Create password protected files	₩	×
Create multiple DOC and PDF files with a single button click	*	**
Create merged PDF files from multiple record transaction	❤	×
Merged additional PDF files into Output File	₩	×

This is the first release for PDF Stamper so these features are not available at this time. The PDF Stamper will be enhanced to include this functionality in future releases.

<sup>\*</sup> Exact Forms Plus can create up to 50 documents in a single transaction. If you have the need to create more than 50 documents in a single transaction you will have to subscribe to the **Exact Forms Plus Batch Processor**.

<sup>\*\*</sup>The PDF Stamper can only create 1 PDF file in a single button click. . If you have the need to stamp and create more than 1 PDF in a single transaction you will have to subscribe to the **PDF Stamper Batch Processor**.



PO Date:	2/7/2012			
	Saturday, 06 February 2021			
PO#:	1007			

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:	
Intuit QuickBase	
100 5th Avenue	
7th Floor	
Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
Client	Project			
Intuit QuickBase	Construction Project			
	Acct: 1001			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ole						
1.00	Service	1 Hour Support		\$150.00	\$150.00	<b>&amp;</b>	
1.00					\$150.00		



PO Date:	2/7/2012			
	Saturday, 06 February 2021			
PO#:	1007			

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:	
Intuit QuickBase	
100 5th Avenue	
7th Floor	
Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
Client	Project			
Intuit QuickBase	Construction Projec	t		
	Acet: 1001			

Quantity	ltem	Description	*	Unit Price	Total Price	Other FA	FA
Taxable							
1.00	<u>Binders</u>	Test		\$10.00	\$10.00	<b>V</b>	
10.00	Books	Books		\$12.50	\$125.00	<b>V</b>	
11.00					\$135.00		

 Subtotal
 \$285.00

 Taxable Subtotal
 \$135.00
 Sales Tax
 \$11.64

 (Sales Tax Rate: 8.625% ... 8.625%)
 Total
 \$296.64

Two Hundred Ninety Six Dollars and Sixty Four Cents

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By Date

#### **Some special Functions**

Date Modified: *Monday, 25 January 2021 16:36:42*Today is: *Saturday, 06 February 2021 21:33:06* 

Number Formatting: 13,375,259.99

**Currency:** Thirteen Million Three Hundred Seventy Five Thousand Two Hundred Fifty Nine Dollars and Ninety Nine Cents

Number: Thirteen Million Three Hundred Seventy Five Thousand Two Hundred Fifty Nine point Ninety Nine



PO Date:	2/7/2012				
Saturday, 06 February 2021					
PO #:	1007				

Vendor:	
ABC Printing Services	
123 Main St	
Suite 123	
Houston, TX 70070	

Ship To:	
Intuit QuickBase	
100 5th Avenue	
7th Floor	
Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
Client	Project			
Intuit QuickBase	Construction Project			
	Acct: 1001			



PO Date:	5/20/2014				
Saturday, 06 February 2021					
PO#:	1008				

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	5/31/2014			~i:76:30~
Client	Project			
Intuit QuickBase	Construction Project			
	Acet: 1001			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Taxable							
199.99	<u>Books</u>	QuickBase in a nutshell	$\boxtimes$	\$10.00	\$1,999.90	<b>&amp;</b>	
199.99					\$1,999.90		

 Taxable Subtotal
 \$1,999.90
 Sales Tax
 \$0.00

 (Sales Tax Rate: ... 0%)
 Total
 \$1,999.90

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By Date

One Thousand Nine Hundred Ninety Nine Dollars and Ninety Cents

### **Some special Functions**

Date Modified: *Monday, 25 January 2021 16:36:44*Today is: *Saturday, 06 February 2021 21:33:14* 

#### **Number Formatting:**

**Currency: Number:** 



PO Date:	5/20/2014		
Saturday, 06 February 2021			
PO#:	1008		

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:	
Intuit QuickBase	
100 5th Avenue	
7th Floor	
Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	5/31/2014			~i:76:30~
Client	Project			
Intuit QuickBase	Construction Projec Acct: 1001	t		



PO Date:	5/13/2008			
Saturday, 06 February 2021				
PO #:	1003			

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008	$\boxtimes$		Ø?
Client	Project			
Intuit QuickBase	TEST ABC			

intent C	Zuickbasc	ILSTAL	,				
Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ole						
250.00	<u>Books</u>	Inserts	$\boxtimes$	\$0.15	\$37.50	<b>V</b>	
250.00	<u>Binders</u>	3 rings binders		\$5.00	\$1,250.00	<b>&amp;</b>	
12.00	<u>Binders</u>	Hello Sarah		\$200.00	\$2,400.00	<b>\$</b>	
1.00	Business Cards	dajhkjafd		\$30.00	\$30.00	<b>\$</b>	
150.00	Pens	Pens with logos		\$0.50	\$75.00	<b>&amp;</b>	
123.00	Books	Test		\$12.00	\$1,476.00	<b>&amp;</b>	
786.00					\$5,268.50		



PO Date:	5/13/2008			
Saturday, 06 February 2021				
PO #:	1003			

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008	$\boxtimes$		Ø?
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Taxable							
375.50	CDs	CDs and Cases	$\boxtimes$	\$2.50	\$938.75	<b>V</b>	
2,000.00	Envelopes	A4 Envelopes	$\boxtimes$	\$0.25	\$500.00	<b>&amp;</b>	
10.00	<u>Paper</u>	8 1/2 x 11 20lb laser - Case	$\boxtimes$	\$5.00	\$50.00	<b>&amp;</b>	
250.00	Jewel Cases	additional cases	$\boxtimes$	\$0.25	\$62.50	<b>&amp;</b>	
250.00	Pens	Promotional Pens		\$0.25	\$62.50	<b>S</b>	
2,000.00	Business Cards	Business cards for vp		\$0.25	\$500.00	<b>S</b>	
5.00	Poster Boards	3x5 poster boards		\$85.00	\$425.00	<b>&amp;</b>	
13.00	<u>Books</u>	Oreilly book on Networking	$\boxtimes$	\$39.99	\$519.87	<b>V</b>	
1,000.00	Customized Pens	Logo Pens		\$1.25	\$1,250.00	<b>&amp;</b>	
21.00	Pens	Special logo pens		\$1.25	\$26.25	<b>&amp;</b>	
5.00	<u>Paper</u>	5 Reams of 8x14	$\boxtimes$	\$3.50	\$17.50	<b>&amp;</b>	
50.00	Pens	Red Pens with Logo	$\boxtimes$	\$1.25	\$62.50	<b>&amp;</b>	
50.00	Pens	Green pens with logo		\$1.25	\$62.50	<b>S</b>	
5.00	Golf Balls	Dozen		\$19.99	\$99.95	<b>S</b>	



PO Date:	5/13/2008				
Sat	Saturday, 06 February 2021				
PO#:	1003				

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008	$\boxtimes$		Ø?
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
2.00	Golf Balls	Dozen with Logo	$\boxtimes$	\$29.99	\$59.98	<b>&amp;</b>	
125.00	<u>Binders</u>	Test		\$100.00	\$12,500.00	<b>\$</b>	
10.00	Business Cards	Biz cards	$\boxtimes$	\$1.00	\$10.00	<b>&amp;</b>	
10.00	CDs			\$50.00	\$500.00	<b>V</b>	
100.00	Envelopes			\$0.10	\$10.00	<b>V</b>	
200.00	Jewel Cases			\$2.50	\$500.00	<b>V</b>	
100.00	Golf Balls			\$100.00	\$10,000.00	<b>&amp;</b>	
6,581.50					\$28,157.30		

Subtotal \$33,425.80 **Taxable Subtotal** \$28,157.30 **Sales Tax** \$2,428.57 (Sales Tax Rate: 8.625% ... 8.625%) Total \$35,854.37

Thirty Five Thousand Eight Hundred Fifty Four Dollars and Thirty Seven Cents

1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.

- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

2/6/2021 Authorized By Date



PO Date:	5/13/2008			
Saturday, 06 February 2021				
PO#:	1003			

Vendor:
ABC Printing Services
123 Main St
Suite 123
Houston, TX 70070

Ship To:
Intuit QuickBase
100 5th Avenue
7th Floor
Waltham, MA 02451

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008			D
Client	Project			
Intuit QuickBase	TEST ABC			

### **Some special Functions**

Date Modified: Wednesday, 03 February 2021 16:09:35
Today is: Saturday, 06 February 2021 21:33:21

Number Formatting: 5,000,005.00
Currency: Five Million Five Dollars and No Cents

Number: Five Million Five

### Thank You!

Thank you for your order! An order confirmation and your receipt were emailed to you athughwilmotjr@gmail.com. If you would like to print out your receipt now, click here.

Your order number is 2086700.

Shipping confirmation, along with a tracking number, will be emailed to you as soon as we ship your order.

A "Follow Up" email will be sent to you a few days after your order is shipped. This is to make sure that everything is to your satisfaction. Rest assured, this is a one-time email.